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GROUP I – PRELIM 2016-17 

PRE-MODEL EXAM – II 
 

No. Of Questions: 150 
Duration: 2:30 hours 

 

1. Choose the correct option regarding Constituent Assembly. 
a. Objective Resolution was moved on December 11, 1946 by Nehru 
b. Objective Resolution was adopted by Assembly on  January 22, 1947 
c. National flag was adopted on January 24, 1950 
d. On November 26, 1949 it held its final session 

murpayikg;G eph;za rig njhlh;ghd rhpahd Njh;it fhz;f:  
a. Fwpf;Nfhs; jPh;khdk; NeUmth;fshy; brk;gh; 11> 1946 md;W 

nfhz;Ltug;gl;lJ 
b. Fwpf;Nfhs; jPh;khdk; [dthp 22> 1947 md;WVw;Wf; nfhs;sg;gl;lJ 
c. Njrpanfhb [dthp 24> 1950 md;WVw;Wf;nfhs;sg;gl;lJ 
d. ,jDilafilrpf; $l;lk; etk;gh; 26> 1949 md;Weilg;ngw;wJ 

 

2. Match the following  
A. 1st Buddhist Council     1. Mogalliputta Tissa 
B. 2nd Buddhist Council     2. Mahayanist  
C. 3rd Buddhist Council     3. Sutta pitaka  
D. 4th Buddhist Council    4. Sthaviraradims  
 A B C D 
a. 3 4 1 2 
b.  4 3 1 2 
c. 2 1 3 4 
d.  1 2 3 4 
nghUj;Jf: 
A. Kjy; Gj;j fTd;rpy;    1. nkhfhypGl;lh 
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B. ,uz;lhtJ Gj;j fTd;rpy;  2. kfh ahdh;fs;  
C. %d;whtJ Gj;j fTd;rpy;  3. Rj;j gplfk;  
D. ehd;fhtJ Gj;j fTd;rpy;  4. ];jhtpuhtjpd;  
 
 A B C D 
a. 3 4 1 2 
b.  4 3 1 2 
c. 2 1 3 4 
d.  1 2 3 4 

 
3. Pyruvic acid is a _____ carbon compound 

a. Two    b. Three  c. Four   d. Five  
igUtpf; mkpyk; vd;gJ vj;jid fhh;gd; nfhz;l Nrh;kk;  
a. ,uz;L   b. %d;W   c. ehd;F   d. Ie;J  

 
4. Liberation of carbon dioxide during respiration is demonstrated by  

a. Kunhne‟s tube experiment     
b. Test tube and funnel experiment  
c. Ganong‟s light screen experiment   
d. Ganong‟s respiroscope experiment 
Rthrpj;jypd;NghJ fhh;gd;-il-Mf;i]L ntspahtij ep&gpf;Fk; Ma;T  
a. $d;]; Foy; Ma;T   b. Ma;Tf;Foy; Gdy; Ma;T  
c. Nfdhq;fpd; xspj;jpiu Ma;T   d. Nfdhq;fpd; Rthrkhdp Ma;T  

 
5. _______ used in manufacture of azo-dyes 

a. Nitrous acid    b. Nitric acid 
c. Liquid ammonia   d. Liquid Nitrogen 
mNrh rhaq;fs; jahhpg;gjpy; gad;gLtJ 
a. iel;u]; mkpyk;   b. iel;hpf; mkpyk;  
c. jput mk;Nkhdpah   d. jput iel;u[d;  

 
6. An example of herbicide is 

a. P, P1 – dichlorodiphenyl trichloro ethane 
b. 2, 4 – Dichlorophenoxy acetic acid 
c. Bordeaux mixture 
d. Both b and c 

fisf;nfhy;ypf;F vLj;Jf;fhl;L  
a. p,p1 - ilFNshNuh-ilgPidy; l;iuFNshNuh <j;Njd;  
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b.2, 4 ilFNshNuhgPdhf;]p mrpl;hpf; mkpyk;  
c. Nghh;lhf;]; fyit  
a. b kw;Wk; c 

 
7. On which date UN issued stamp to honour M.S. Subbulakshmi on her 

birth centenary? 
a. October 2, 2016  b. September 16, 2016 
c. October 2, 2015  d. October 24, 2016 
I.eh. rig vk;.v];.Rg;Gyl;Rkpapd; E}w;whz;bid nfhz;lhLk; tpjkhf 
mQ;ry;jiy ntspapl;l ehs; _____ 
a. mf;Nlhgh; 2> 2016  b. nrg;lk;gh; 16> 2016 
c. mf;Nlhgh; 2> 2015  d. mf;Nlhgh; 24> 2016 

 
8. Which of the following public sector banks would receive the loans from 

New Development Bank of BRICS countries? 
a. Punjab National Bank  b. Canara Bank 
c. Bank of Baroda   d. State Bank of India 
ve;j nghJj;Jiw tq;fp BRICS ehLfspd; „Gjpa tsh;r;rp tq;fpaplk; 
,Ue;J fld; ngWfpwJ? 
a. gQ;rhg; Njrpa tq;fp   b. fduh tq;fp 
c. gNuhlh tq;fp    d. ,e;jpa ];Nll; tq;fp (SBI) 

 
9. Degressive tax means 

a. Tax rate decreases with increase in tax base 
b. Tax rate remains same with tax base 
c. It is a blend of progressive and proportional tax 
d. It is a blend of regressive and proportional tax 

kpj tsh;tPj thptpjpg;G Kiw vd;gJ 
a. thpapd; mbg;gil jsk; mjpfhpf;Fk; NghJ thp tPjk; FiwfpwJ 
b. thp tPjKk; thpapd; mbg;gil jsKk; khwhjpUf;Fk; 
c. tpfpjKiw thp tpjpg;G> tsh; tPj thp tpjpg;G Mfpa ,uz;Lk; Nrh;e;j 

fyit 
d. Nja;T tPj thptpjpg;G Kiw> tpfpjKiw thp tpjpg;G Mfpa ,uz;Lk; 

Nrh;e;j fyit 
 

10. Match the following : 
 A. Laplace    1. Tidal Hypothesis 
 B. Hubble     2. Nebular Hypothesis 
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 C. Jeans and Jeffrey   3. Gaseous Hypothesis 
 D. Kant     4. Big Bang Theory 
  
 
   A B C D  
 a. 2 4 1 3 
 b. 1 4 2 3  
 c. 2 3 1 4 
 d. 4 3 2 1 
 nghUj;Jf : 

A.  yhg;Ns];   1. Xj fw;gpjf; nfhs;if 
B.  `g;gps; 2.el;rj;jpuf; $l;lj;jpdhy; Vw;gLk; gpufhrk; 

fw;gpjf; nfhs;if 
C. [Pd;]; kw;Wk; n[/g;hp 3. thA Nghd;w fw;gpjf; nfhs;if 
D. fhe;j;    4. ngU ntbg;G Nfhl;ghL 

   A B C D  
 a. 2 4 1 3 
 b. 1 4 2 3  
 c. 2 3 1 4 
 d. 4 3 2 1 
 

11. If DANCE is coded as GXQZH, then how will RIGHT be coded? 
a. UFJEWb. SGKFX   c. UFJWEd. UFWJE 
DANCE vd;gJGXQZH vd Fwpf;fg;gl;lhy;>RIGHT  vd;gJ vt;thW 
Fwpf;fg;gLk;. 
a. UFJEWb. SGKFX   c. UFJWEd. UFWJE 

 
12. A is 50% as efficient as B. C does half of the work done by A and B 

together. If C alone does the work in 20 days, then A, B and C together 
can do the work in 

a. 5 days     b. 
2

6
3

days   c. 6 days       d. 7 days 

A vd;gtu; B vd;gtupd; Ntiyj;jpwdpy; 50% jpwd; nfhz;Ls;stu;. A 
kw;Wk; B ,UtUk;  Nru;e;J nra;Ak; Ntiyapy; ghjpiar; 
nra;af;$batu; C. C jdpahf xU Ntiyia  20 ehl;fspy; nra;jhy;>A, 
B kw;Wk; C MfpNahu; ,ize;J me;j Ntiyia vj;jid  ehl;fspy; 
nra;tu;? 
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a. 5 ehl;fs;  b. 
2

6
3
ehl;fs; c. 6 ehl;fs;  d. 7 ehl;fs; 

 
13. 7 men can complete a piece of work in 12 days. How many additional 

men will be required to complete double the work in 8 days? 
a. 28   b. 21   c. 14  d. 7 
7 kdpju;fs; xU Ntiyia 12 ehl;fspy; Kbg;gu;. mt;Ntiyiag; Nghy; 
,U klq;F Ntiyia 8 ehl;fspy; nra;J Kbf;f $Ljyhf vj;jid 
Ml;fs; Njit? 
a. 28   b. 21   c. 14  d. 7 

 
14. The price of sugar goes up by 20%. If a housewife wants the expenses on 

sugar to remain the same, she should reduce the consumption by 

a. 15
1

5
%   b. 16 

2

3
%  c. 20%d. 25% 

ru;f;fiuapd; tpiy 20% mjpfupf;fpwJ. xU ,y;yj;jurp ru;f;fiuf;F 
nrytpLk; njhifia khw;whky; ,Uf;f Ntz;Lnkdpy; mtu; ru;f;fiuia 
vt;tsT Fiwthf thq;f Ntz;Lk;? 

a. 15
1

5
%   b. 16 

2

3
%  c. 20%d. 25% 

 
15. The ratio of income and expenditure of a person is 11 : 10. If he saves Rs. 

9,000 per annum, his monthly income is 
a. Rs. 8,000  b. Rs. 8,800 c. Rs. 8,500 d. Rs. 8,250 
xU kdpjdpd; tuT kw;Wk; nrytpd; tpfpjk; 11 : 10. mtu; xU 
tUlj;jpw;F &. 9>000 Nrkpj;jhy;> mtUila khj tUkhdk; 
a. Rs. 8,000  b. Rs. 8,800 c. Rs. 8,500 d. Rs. 8,250 

 
16. The UN Charter was ratified in 1945 by 

a. 25 nations b. 29 nations c. 33 nations d. 37 nations 
 “I.eh. rhh;l;lh;” I 1945y; Vw;Wf;nfhz;l ehLfs; vz;zpf;if? 
 a. 25 ehLfs; b. 29 ehLfs; c. 33 ehLfs; d. 37 ehLfs;  
 

17. In order to control/ Prevent corruption, Alauddin khilji maintained  
1. Vigilance on Nobles   2. Branding of Horses    
3. Market regulation  
Which code is / are correct  
a. 1 only   b. 2 only   c. 1 & 3 only   d. All the above 
Coiyf; fl;Lg;gLj;j / jLf;f myhTjPd; fpy;[p filgpbj;jit  
1. cah;e;Njhhpd; fz;fhzpg;G  
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2. Fjpiufspd; Kj;jpiuapLjy;  
3. re;ij xOq;FKiw  
rhpahd FwpaPL vJ / vit?  
a. 1 kl;Lk;  b. 2 kl;Lk; c. 1> 3  kl;Lk; d. Nkw;fz;l midj;Jk;  

 
18. The Congress policy of pray and petition ultimately came to an end 

under the guidance of 
a. Aurobindo Ghosh   b. Bal Gangadhar Tilak 
c. Lala Lajpat Rai   d. Mahatma Gandhi 
fhq;fpurpd; nfhs;ifahd Ntz;Ljy; kw;Wk; kD mspj;jy; ahhpd; 
Kaw;rpahy; KbTf;F te;jJ? 
a. mugpe;Njh Nfh~;   b. ghy fq;fhju jpyfh; 
c. yhyh y[gjp uha;   d. kfhj;kh fhe;jp 

 
19. Baryons are elementary particles and its types are 

a. electron, positron 
b. neutrino, antineutrino, positive and negative muons 
c. lambda, sigma, xi, omega hyperons, protons and neutrons 
d. Ti-meson, k-mesons,   - mesons 

nghpNahd;]; vd;w Kjd;ikj;Jfs; ve;j tifapidr; Nrh;e;jJ  
a. vyf;l;uhd;> ghrpl;uhd;  
b. epA+l;hpNdh> vjph; epA+l;hpNdh> Neh; kw;Wk; vjph; kpA+ahd;fs;  
c. yk;lh> rpf;kh> ir> VNkfh> i`guhd;];> GNuhl;lhd;> epA+l;uhd;fs;  
d. il-kprhd;u k-kPrhd;> -kPrhd;fs;  

 
20. Chronometer is used to 

a. To determine wavelength of colour light 
b. Determine longitude of place 
c. Salinity of sea 
d. Sun and other stars surface temperature 

FNuhNdhkPl;lh; vjw;F gad;gLfpd;wJ 
a. epw xspapd; miyePsj;jpidf; fz;lwpa 
b. ,lj;jpd; jPHf;fNuhifapid fz;lwpa 
c. flypd; cth;g;gpaiyf; fz;lwpa  
d. #hpad; kw;Wk; gpw el;rj;jpuq;fspd; Nkw;gug;G ntg;epiyapidf; 

fz;lwpa 
 

21. Bubble boy Syndrome is also called as  
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a. Blast   b. HGP   c. SCID   d. DOPA  
Fkpo; rpWtd; (Bubble boy) Neha; vd;gJ vJ?  
a. Blast   b. HGP   c. SCID   d. DOPA  

 
 

22. The disease syphilis is caused by the bacteria called  
a. Salmonella     b. Yersinia pestis   
c. Vibrio Cholera    d. Treponema palladium  
rp/gyp]; Neha;f;F fhuzkhd ghf;Bhpak;  
a. rhy;Nkhndy;yh    b. nah;rpdpah ng];b]; 
c. tpg;hpNah fhyuh    d. bhpg;NghdPkh gy;ypbak;  

 
23. The unit of magnetic field strength is 

a. Weber  b. Tesla  c. Am-1  d. Kg m2A-18-2 
fhe;jg;Gyr; nrwptpd; tha;g;ghL 
a. tPgh;  b. nl];yh  c. Am-1  d. kgm2 A-1 8-2 

 
24. A cricket ball is hit at 45° to the horizontal imparting it a kinetic energy 

k. the kinetic energy at the highest points is 

a. k   b. k/2   c. K/ 2   d. zero 
fpilj;jsj;Jld; 450 Nfhzj;jpy; vwpag;gLk; fphpf;nfl; ge;J xd;W mjd; 
,af;f  Mw;wy; k ia nfhLf;fpwJ vdpy; cr;r cau Gs;spapy; mjd; 
,af;f Mw;wy; 
a.k    b. k/2   c. k√2   d. zero  

 
25. The President of Indian National Congress at the time of partition of 

India was 
a. C. Rajagopalachari   b. J.B. Kripalani 
c. Jawaharlal Nehru   d. Maulana Abul Kalam Azad 
gphptpidapd; NghJ ,e;jpa Njrpa fhq;fpurpd; jiytuhf ,Ue;jth; 
_________ 
a. C. ,uh[Nfhghyhr;rhhp  b. J.B. fpUgshdp 
c. [t`h;yhy; NeU   d. nksyhdh mGy; fyhk; Mrhj; 

 
26. Mrs. Subheela celebrated her wedding anniversary on Tuesday, 30th 

September 1997. When will she celebrate her next wedding anniversary 
on the same day? 
a. 30 September 2003   b. 30 September 2004 

https://www.google.co.in/search?rlz=1C1CHBF_enIN727IN727&biw=1366&bih=638&q=Trypanosoma&spell=1&sa=X&ved=0ahUKEwjCnPXTxr7RAhXCN48KHXGwA88QvwUIFigA
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c. 30 September 2002   d. 30 October 2003 
jpUkjp rgPyh mtUil jpUkz ehis nrt;tha; fpoik 1997k; tUlk; 
nrg;lk;gu; khjk;  30k; ehs; nfhz;lhbdhu;. mtu; vg;nghOJ 
jd;Dila mLj;j jpUkz ehis mNj  fpoikapy; nfhz;lhLthu;. 
a. nrg;lk;gu; 30> 2003   b. nrg;lk;gu; 30> 2004 
c. nrg;lk;gu; 30> 2002   d. mf;Nlhgu; 30> 2003 

27. Question figures 

 
Answer figures 

 
a     b  c    d 

 

28. The next number of the sequence 
1, 2, 5, 6, 14, 24, 30, 120, …….. 
a. 91  b. 55  c. 720  d. None of these 
1, 2, 5, 6, 14, 24, 30, 120,……. vd;w njhlhpd; mLj;j vz; 
a. 91  b. 55  c. 720  d. ,tw;Ws; vJTkpy;iy 

 

29. Two numbers are in the ratio of 3 : 4. The product of their LCM and GCD 
is 10800. Their sum is 
a. 210  b. 240  c. 225  d. 180 
,uz;L vz;fs; 3 : 4 vd;w tpfpjj;jpy; cs;sd. kP.rp.k. kP.ngh.k. tpd; 
ngUf;F njhif 10800> vdpy; mtw;wpd; $Ljy; 
a. 210  b. 240  c. 225  d. 180 

 

30. The largest four-digit number which when divided by 4, 7 or 13 leaves a 
remainder of 3 in each case, is: 
a. 8739  b. 9831  c. 9834  d. 9893 
Xh; kpfg;nghpa ehd;fpyf;f vz;iz 4> 7 my;yJ 13My; tFf;Fk; NghJ 
xt;nthd;wpd;Yk; kPjp 3 fpilf;f> mt;ntz;izf; fz;Lgpb 
a. 8739  b. 9831  c. 9834  d. 9893 

 

31. The m-RNA carries genetic information from  
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a. ribosome to DNA     b. rRNA to DNA 
c. DNA to ribosome     d. DNA to mitochondrion  
m-RNA kuGr; nra;jpfis vq;fpUe;J vq;F vLj;Jr; nry;fpwJ?  
a. iuNghNrhkpypUe;J DNA -Tf;F  b. m-RNA tpypUe;J DNA tpw;F  
c. DNA tpypUe;J iuNghNrhkpw;F  
d. DNA tpypUe;J ikl;Nlhfhz;l;hpahtpw;F  

32. In the world the density of population is very high 
a. Bangladesh  b. Monaco  c. Australia   d. China  
cyfpy; kpfTk; mjpfkhd kf;fs; njhif mlh;j;jp nfhz;l ehL vJ? 
a. tq;fhsNjrk; b. nkhdhNfh  c. M];jpNuypah  d. rPdh 

 

33. Match the following  
List - I      List – II 
A. Babur      1. Chausa  
B. Humayun      2. Kanwah  
C. Akbar       3. Mewar 
D. Jehangir      4. Haldigati 
   A B C D 
a. 1 2 3 4 
b. 4 3 2 1  
c. 2 1 4 3 
d. 1 2 4 3 
nghUj;Jf: 
A. ghgh;      1.nrsrh 
B. `pkhA+d;    2.fd;th  
C. mf;gh;     3. Nkthh; 
D. [fhq;fPh;    4. `hy;jpfjp 

A B C D 
a. 1 2 3 4 
b. 4 3 2 1  
c. 2 1 4 3 
d. 1 2 4 3 

 

34. The headquarters of the Survey of Indian Department is located at : 
a. Jaipur  b. Dehradun c. Hyderabad  d. New Delhi 
,e;jpa epy msit Jiwapd; jiyikafk; cs;s ,lk;  
a. n[ag;G+h; b. Nluh^d;  c. i`j;uhghj;  d. GJ nly;yp  

 

35. Which of the following currents is also known as the Humboldt Current? 
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a. California Current   b. Labrador Current 
c. Peru Current    d. Kuroshio Current 
fPo;f;fz;l ePNuhl;lq;fspy; ve;j ePNuhl;lk; `k;Nghy;l; ePNuhl;lk; 
vd;wiof;fg;gLfpwJ? 
a. fypNghh;dpah ePNuhl;lk;  b. yhg;ulhh; ePNuhl;lk; 
c. ngU ePNuhl;lk;   d. FNuh~pNah ePNuhl;lk; 

 
36. Consider the following statement 

1. Bhagawati committee was constituted to study unemployment 
problem 

2. Phillips curve relates unemployment with population 
a. statement 1 is true, 2 is false  b. 2 is true, 1 is false 
c. both are true     d. both are false 
gpd;tUk; $w;Wfis Ma;f 

1. Ntiytha;g;gpd;ik rpf;fiy Muha gftjp FO mikf;fg;gl;lJ 
2. gpspg;]; tisT kf;fs;njhifAld; $ba Ntiytha;g;gpd;ikAld; 

njhlh;GilaJ 
a. 1 rhp> 2 jtW  b. 2 rhp> 1 jtW 
c. ,uz;Lk; rhp   d. ,uz;Lk; jtW 

 
37. According to the „2015 World Happiness Report‟ released by United 

Nations Sustainable Development Solutions Network (SDSN), out of 158 
countries India ranks at the 
a. 137th spot b. 117th spot c. 97th spot  d. 107th spot  
If;fpa ehLfspd; epiyahd tsh;r;rp jPh;Tfs; tiyaikg;ghy; (SDSN) 
ntspapl;Ls;s “2015-cyf kfpo;r;rpf;fhd mwpf;ifapd; gb 158 ehLfspy; 
,e;jpahtpd; ,lk;  
a. 137tJ ,lk; b. 117tJ ,lk;  c. 97tJ ,lk;  d. 107tJ ,lk; 
   

38. “Tribhanga” is prominent in which of the following dance forms? 
a. Bharatnatyam  b. Odissi 
c. Kuchipudi   d. Mohiniattam 
jpUgq;fh vd;gJ vt;tif eldj;Jld; njhlh;GilaJ? 
a. gujehl;bak;   b. xbrp 
c. Fr;rpg;Gb   d. Nkhfpdpahl;lk; 

 

39. Law of multiple proportions was stated by  
a. Lavoisier b. Lomonoss off   c. Dalton  d. Proust 

 gy tpfpjhr;ru tpjp ahuhy; $wg;gl;lJ? 
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 a. yhtha;r;rpah; b. NyhNkhNdh]; Mg; c. lhy;ld;  d. g;nus];l; 
 

40. Consider the following statement 
1. Oxygen belongs to chalcogen group 
2. Barium is an alkali metal 

a. 1 is true, 2 is false  b. 2 is true, 1 is false 
c. both are true   d. both are false 
gpd;tUtdtw;iw ftdp:  
1. Mf;]p[d; rhy;Nfh[d; njhFjpiar; Nrh;e;jJ  
2. Nghpak; xU fhu cNyhfk; MFk;  
a. 1 rhp> 2 jtW    b. 2 rhp> 1 jtW 
c. ,uz;Lk; rhp    d. ,uz;Lk; jtW  

 

41. Find the greatest number that will divide 400, 435 and 541 leaving 9, 10 
and 14 as remainders respectively 
a.  19   b.    17  c.   13   d.   9 
400, 435 kw;Wk; 541 vd;w vz;fis xU Fwpg;gpl;l vz;zhy; tFf;Fk; 
NghJ KiwNa 9, 10, 14  kPjk; fpilf;fpwJ vdpy; mg;nghpa vz; ahJ? 
a.  19   b.    17  c.   13   d.   9 

 

42. The cost of fencing a circular plot at the rate of Rs. 15 per meter is Rs. 
3,300. What will be the cost of flooring the plot at the rate of Rs. 100 per 
square meter? 
a. Rs. 3,85,000  b. Rs. 2,20,000  c. Rs. 3,50,000 d. None of these 
xU tl;ltbt kidapy; Ntyp mikf;f kPl;lUf;F &.15 tPjk; &.3>300 
MfpwJ. mNj tl;l tbt kidapy; jiu mikf;f xU rJu kPl;lUf;F 
&.100 tPjk; vdpy; jiu mikf;f MFk; nkhj;j nryT vd;d? 
a. Rs. 3,85,000   b. Rs. 2,20,000   
c. Rs. 3,50,000  d. ,it VJkpy;iy 

 

43. Compound interest on a certain sum for two successive years is `150 and 

` 153 respectively. Find rate of interest.  

a. 2   b. 3   c. 20   d. 5 
xU Fwpg;gpl;l njhiff;fhd mLj;jLj;j ,uz;L Mz;LfSf;fhd 

fpilf;fg;ngWk; tl;bahdJ KiwNa `150, ` 153 vdpy; tl;b rjtPjk; 
fhz;f.  

 a. 2   b. 3   c. 20   d. 5 
 



 

12 | Page  PH: 24339436, 42867555, 9840226187 
 

44. A starts a business with Rs 3500 and after 5 months B joins with A as his 
partner. After one year the profit is divided in the ratio 2:3. What is B's 
contribution in capital? 
a.  6000  b.   9000  c.   3000   d.  7500 
A xU njhopiy &.3500 %jyPl;by; njhlq;Ffpwhh;. njhopy; Muk;gpj;j 5 
khjq;fSf;F gpwF A-Ald; B ,izfpwhh;. xU Mz;Lf;F gpwF 
mth;fSf;F fpilf;Fk; yhg tpfpjk; 2:3 vdpy; mj;njhopypy; B-d; KjyPL 
vt;tsT? 

 a.  6000  b.   9000  c.   3000   d.  7500 

45. Three numbers are in the ratio 
1 2 3

: :
2 3 4

. The difference between the greatest 

and the smallest numbers is 36. The numbers are: 
a. 72,84,108  b. 60,72,96  c. 72,84,96  d. 72,96,108 

%d;W vz;fs; 
1 2 3

: :
2 3 4

vd;w tpfpjj;jpy; cs;sd. Fiwe;jgl;r kw;Wk; 

mjpfgl;r vz;fSf;F ,ilapyhd tpj;jpahrk; 36 vdpy;> me;j vz;fs; 
vd;ndd;d? 
a. 72,84,108  b. 60,72,96  c. 72,84,96  d. 72,96,108 

 

46. In glycolysis, the number of ATP consumed is  
a. one   b. two   c. three  d. four  
fpissfhyprp]py; epfumsT gad;gLj;jg;gLk; ATP %yf;$Wfspd; 
vz;zpf;if  
a. xd;W    b. ,uz;L  c. %d;W   d. ehd;F  

 

47. Which one is Rodenticides? 
a. Zinc Phosphate  b. Mercury   c. Cadmium  d. Manganese  
gpd;tUtdtw;Ws; vJ vypf;nfhy;yp?  
a. [pq;f; gh];Ngl; b. nkh;f;Fhp   c. fhl;kpak;  d. khq;fdPR  

 

48. Fahien stayed in India for Nine years during the region of  
1. Chandra Gupta – I   2. Samudra Gupta   
3. Chandra Gupta – II  4. Kumara Gupta  
Code 
a. 1 Only   b. 2, 4 Only   c. 3 Only  d. 3 & 4 only  
ahUila fhyj;jpy; gh`pahd; ,e;jpahtpy; xd;gJ Mz;Lfshfj; 
jq;fpapUe;jhh;. 
1. Kjyhk; re;jpuFg;jh;  2. rKj;u Fg;jh;  
3. ,uz;lhk; re;jpuFg;jh;  4. Fkhu Fg;jh;  
a. 1 kl;Lk;  b. 2 kl;Lk;  c. 3 kl;Lk;  d. 3> 4 kl;Lk;  
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49. The American constitution inspired the Indian constitution Assembly to 
adopt which of the following features of the Indian Constitution? 

I. Judicial Constitution    
II. Judicial Review 

III. Fundamental Rights   
IV. Preamble 
V. Vice President as ex-officio chairperson of the Rajya Sabha 

VI. Residuary Power vested in the Union 
VII. Union with powerful centre and distribution of power between 

union and states. 
a. I,II and III   b. I,II,III,IV and V  
c. I, II,III,V,VII  d. All of the above 
gpd;tUk; ,e;jpa murpayikg;Gr; rl;l mk;rq;fSs;> ve;j mk;rj;ijg; 
gpd;gw;WkhW mnkhpf;f murpayikg;Gr; rl;lk; ,e;jpa murpayikg;Gf; 
FOTf;F J}z;LNfhshf tpsq;fpaJ? 
I. ePjpj; Jiw mikg;G    
II. ePjpj;Jiw tpkh;rdq;fs; 

III. mbg;gil chpikfs;   
IV. Kd;Diu 
V. Jiz FbauRj; jiyth;> khepyq;fs; mitapd; mYtyhy; 

jiytuhf tpsq;Fjy; 
VI. murplk; kPjKs;s mjpfhuq;fs 

VII. typikahd mjpfhuj;ijf; nfhz;l kj;jpa muR kw;Wk; kj;jpa 
kw;Wk; khepy muRfSf;F ,ilNa mjpfhug; gfph;T. 

a. I, II kw;Wk; III     b. I, II, III, IV kw;Wk; V  
c. I, II, III, V kw;Wk; VII   d. Nkw;fz;l midj;Jk; 

 
50. Under Article 2 of the constitution of India which territories were 

admitted into the Union? 
I. Dadra & Nagar Haveli  II. Goa, Daman and Diu  
III. Pondicherry   IV. Chandranagar   
V. Sikkim 
a. All the above  b. only IV  c. I,II,and IV       d. I,II,IV, and V 
,e;jpa murpayikg;Gr; rl;lg; gphpTf;$W 2d;gb ve;j khepyq;fs; ,e;jpa 
a+dpaDld; Nrh;j;Jf; nfhs;sg;gl;ld? 
I. jhj;uh kw;Wk; efh; `Ntyp  II. Nfhth> lhkd; kw;Wk; ila+  
III. ghz;br;Nrhp     IV. re;jpuh efh;  
V. rpf;fpk; 
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a. Nkw;fz;l midj;Jk;  b. IV kl;Lk;  
c. I, II kw;Wk; IV      d. I, II, IV kw;Wk; V 

 
51. Which of the following is correctly matched? 

I. Mahendravarman  - Rock cut temple  
II. Narasimhavarman  - Single stone Rathas 
III. Raja Simhan   - Mahabalipuram shore temple  
a. I and II  b. II and III  c. I and III  d. I,II and III 
 
 
 
fPo;tUtdtw;Ws; vJ rhpahfg; nghUj;jg;gl;Ls;sJ? 
I kNfe;jputh;kd;   - Fltiu Nfhtpy; 
II. eurpk;kd;   - xw;iwf;fy; ujk; 
III. uh[rpk;kd;   - kfhgypGuk; flw;fiu Nfhtpy; 
a. I kw;Wk; II    b. II kw;Wk; III 
c. I kw;Wk; III    d. I>II kw;Wk; III 

 
52. Which cell organelle is anabolic? 

a. Mitochondrion  b. Ribosome c. Golgibody  d. Chloroplast  
ve;j nry; cs;SWg;G caph;g;nghUs; Mf;Ftjw;F chpa nraypy; 
<LgLfpd;wJ 
a. ikl;Nlhfhz;l;hpah   b. iuNghNrhk; 
c. Nfhy;if cWg;Gfs;   d. FNshNuhgpsh];l;  

 
53. Consider the following 

I. The golgi apparatus was first described by camillo Golgi  
II. Golgi apparatus is referred to as dictosomes  
III. Golgi apparatus is involved in the formation of lysosomes  
Which is / are correct?  
a. I and II   b. II and III c. I, II ,III  d. None of the above  
gpd;tUtdtw;iw ftdp:  
I. fhkpy;Nyh fhy;[p vd;gth; Nfhy;if cWg;Gfisg; gw;wp Kjd; Kjypy; 
tpsf;fpdhh;.  
II. Nfhy;if cWg;Gfs; bf;NlhNrhk;fs; vd;Wk; miof;fg;gLfpd;wd.  
III. Nfhy;if cWg;Gfs; iyNrhNrhk;fspd; cw;gj;jpapy; <LgLfpd;wd.  
vJ/ vit rhp?  
a. I kw;Wk; II   b. II kw;Wk; III  
c. I, II kw;Wk; III  d. vJTk; ,y;iy  
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54. “Any species that readily donates a pair of electron is called base”. This 
statement is 

a. Arrehenius definition of base 
b. None of these 
c. Definition of acid by Bronsted – Lowy 
d. Definition of Lewis base  

“xU Nrhb vyf;l;uhid cldbahf nfhLf;ff;$ba ve;j xU jdpkKk; 
“fhuk; vdg;gLk;‟ ,e;j njhluhdJ  
a. mh;Nfdpa]; fhu nfhs;if    b. ,it VJkpy;iy 
c. g;Nuhd;];Nll; Nyhapd; mkpy tpsf;fk;  d. Y}apy;fhu nfhs;if  

55. Sugarcane grows well _________ soil 
a. Slightly alkaline   b. Slightly acidic 
c. Highly acidic    d. Neutral 
fUk;G vt;tif kz;zpy; ed;F tsWk;  
a. Fiwe;jgl;l fhu   b. Fiwe;jgl;r mkpy  
c. mjpfgl;r mkpy    d. eLepiy  

 
56. Which one will replace the question mark ? 

 Nfs;tp Fwpapl;l ,lj;jpy; tUk; vz; ahJ? 

 
a. 115  b. 130  c. 135  d. 140 

 
57. If x + y + z = 9  &  xy + yz + zx = 23, then the value of (x3 + y3 + z3 - 3xyz) 

is : 
a. 108  b. 207  c. 669   d. 729 
x + y + z = 9  &  xy + yz + zx = 23, vdpy; (x3 + y3 + z3 - 3xyz) d; kjpg;G 
fhz;f 
a. 108  b. 207  c. 669   d. 729 

 
58. If the area of a square with the side a is equal to the area of a triangle 

with base a, then the altitude of the triangle is. 
a. a  b. a/2  c. 2a  d. None of above 
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a vd;w rJuj;jpd; gf;f msT nfhz;l rJu gug;gsTk; a vd;w mbg;gf;f 
msT nfhz;l Kf;Nfhzj;jpd; gug;gpw;F rkk; vdpy; Kf;Nfhzj;jpd; 
Fj;Jauk; fhz;f 
a. a  b. a/2  c. 2a  d. ,it VJkpy;iy 
 

59. 12 spheres of the same size are made from melting a solid cylinder of 16 
cm diameter and 2 cm height. Find the diameter of each sphere. 
a. 4 cm   b. 6 cm  c. 8 cm  d. 10 cm 
xNu tbtKs;s 12 Nfhsq;fis 16 nr.kP tpl;lk; kw;Wk; 2 nr.kP 
cauKs;s cUisapypUe;J cUf;fp vLf;fg;gLfpd;wJ vdpy; Nfhsj;jpd; 
tpl;lk; fhz;f 
a. 4 cm   b. 6 cm  c. 8 cm  d. 10 cm 

 
60. Two numbers are such that their difference, their sum and their product 

are in the ratio 1 : 7 : 24. Find the product of the numbers.  
a. 42   b. 48   c. 52   d. 60 
,uz;L vz;fisg; nghWj;jtiuapy;> mtw;wpw;F ,ilNaahd tpj;jpahrk;> 
mtw;wpd; $Ljy; kw;wk; mtw;wpd; ngUf;fw;gyd; Mfpait 1:7:24 vd;w 
tpfpjj;jpy; cs;sd.  me;j vz;fspd; ngUf;fw;gyd; vd;d? 
a. 42   b. 48   c. 52   d. 60 

 
61. The community known as the people of the 'Fourth world' is 

a. Backward community  b. Forward community 
c.Scheduled tribes   d. Scheduled caste 
\ehd;fhtJ cyfpd;‟ kf;fs; vd miof;fg;gLk; tFg;gpdh;  
a. gpw;gLj;jg;gl;l tFg;gpdh;  b. cah; tFg;gpdh;  
c. kiy tho; kf;fs;   d. Mjp jpuhtplh;fs;  

 
62. The mostly accepted measure for finding out the level of employment is  

a.Usual Status    b. Current Daily Status 
c. Current Weekly Status  d. Current Monthly Status 
Ntiy tha;g;G epiyia mwpe;J nfhs;s ve;j fPo;f;fz;l Kiw nghpJk; 
Vw;Wf;nfhs;sg;gLfpd;wJ?  
a. tof;fkhd juk;    b. epfo;fhy md;whl juk;  
c. epfo;fhy thu juk;   d. epfo;fhy khj juk;  

 
63. Which one of the following is the correct sequence of the given hills 

starting from the North and going towards the South? 
a. Nallamalai Hills – Nilgiri Hills – Javadi Hills – Anaimalai Hills 
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b. Anaimalai Hills – Javadi Hills – Nilgiri Hills – Nallamalai Hills 
c. Nallamali Hills – Javadi Hills – Nilgiri Hills – Anaimalai Hills 
d. Anaimalai Hills – Nilgiri Hills – Javadi Hills – Nallamalai Hills 
fPNo nfhLf;fg;gl;Ls;s kiyfspd; thpirapy; vJ tlf;fpypUe;J njw;fhf 
tiu rhpahd thpirahf mike;Js;sJ? 
a. ey;y kiy Fd;Wfs; - ePyfphp Fd;Wfs; - [t;thJ Fd;Wfs;  

Midkiy Fd;Wfs; 
b. Midkiy Fd;Wfs; - [t;thJ Fd;Wfs; - ePyfphp Fd;Wfs;  

ey;ykiy Fd;Wfs; 
c. ey;ykiy Fd;Wfs; - [t;thJ Fd;Wfs; - ePyfphp Fd;Wfs; - 

Midkiy Fd;Wfs; 
d. Midkiy Fd;Wfs; - ePyfphp Fd;Wfs; - [t;thJ Fd;Wfs;  

ey;ykiy Fd;Wfs; 
64. „Maitri Express‟ railway service is related with 

a. India-Pakistan   b. India-Bangladesh 
c. India-Nepal    d. India-Bhutan 
“ikj;hp vf;];g;u];” njhlh;tz;b NritAld; njhlh;GilaJ 
a. ,e;jpah – ghfp];jhd;   b. ,e;jpah – gq;fshNj~;  
c. ,e;jpah – Neghsk;   d. ,e;jpah – G+lhd;  

 
65. Match the following: 

List I       List II 
A. Ahmed Nagar     1. Nizam Shahi  
B. Golkanda      2. Qutub Shahi  
C. Bijapuri      3. Adilshahi  
D. Bidar      4. Barid Shahi  
   A B C D 
a. 2 1 3 4 
b. 4 1 3 2 
c. 1 2 3 4 
d. 2 4 1 3 
nghUj;Jf: 
gl;bay; I    gl;bay; II 
A. mfkJ efh;   1.eprhk; rh`p 
B. Nfhy;nfhz;lh  2. FJg; rh`p  
C. gP[g;G+h;    3. mjpy;rh`p 
D. gPlhh;    4.ghhpj;rh`p  

A B C D 
a. 2 1 3 4 
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b. 4 1 3 2 
c. 1 2 3 4 
d. 2 4 1 3 
 

66. Which one of the following is wrongly matched  
a. Vitamin B1  - Thiamine  
b. Vitamin B3  -  Niacin  
c. Vitamin B6  - Pyridoxine  
d. Vitamin B5  - Folic acid  
 
 
 
gpd;tUtdtw;Ws; vJ jtwhfg; nghUe;jpAs;sJ 
a. tpl;lkpd; B1   - ijakpd; 
b. tpl;lkpd; B3  - epahrpd;  
c. tpl;lkpd; B6  - ighpahf]pd;  
d. tpl;lkpd; B5  - Nghypf; mkpyk;  

 
67. The Sinu atrial node is situated in the wall of 

a. Right atrium     b. Left atrium   
c. Right Ventricle   d. Left Ventricle  
irD Mhpf;Fyhh; fZ mike;Js;s ,lk;  
a. tyJ VBhpak;    b. ,lJ Vl;hpak;  
c. tyJ ntd;l;hpfps;   d. ,lJ ntd;l;hpfps; 

 
68. Which Leucocytes contain heparin? 

a. Neutrophills   b. Eesinophils   
c. Basophils   d. Lymphocytes  
ve;j Yf;Nfhirl; `pg;ghhpidf; nfhz;Ls;sJ? 
a. epA+l;Nuhgpy;];  b. <.rpNdhgpy;]; 
c. NgNrhgpy;];  d. ypk;Nghirl;]; 

 
69. Consider the following statements 

Assertion (A): In 1916, Maulana Mohammad Ali and Abul Kalam Azad 
resigned from the Legislative Council 
Reason (R): The Rowlatt Act was passed by the Government in spite of 
being opposed by all Indian members of the Legislative Council 
Select your answer from the coding scheme given below: 

a. Both A and R are true and R is the correct explanation of A 
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b. Both A and R are true but R is not the correct explanation of A 
c. A is true, but R is false 
d. A is false, but R is true 

gpd;tUtdtw;iw Ma;f 
$w;W (A): 1916y; Kfk;kJ myp kw;Wk; mGy; fyhk; Mrhj; rl;l 
Nkyitapy; ,Ue;J gjtp tpyfpdh; 
fhuzk; (R): rl;l Nkyitapy; ,e;jpa cWg;gpdh;fs; nusyl; rl;lj;ij  
vjph;j;jNghJk; muR mij rl;lkhf;fpaJ  

a. A kw;Wk; R rhp R vd;gJ A-tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A-tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp  

70. The second law of thermodynamics states that 
a. heat is neither created nor destroyed 
b. heat can be converted into other forms of energy 
c. heat flows from a hot object to a cool one  
d. heat and work are the same 
ntg;g ,af;ftpaypd; ,uz;lhk; tpjp Fwpg;gJ 
a. ntg;gk; cUthfTk; ,y;iy mopf;fg;glTk; ,y;iy  
b. ntg;g Mw;wypd; kWtbtkhf cs;sJ  
c. ntg;gk;> cah; ntg;gepiy nghUspy;  ,Ue;J Fiwe;j ntg;gepiyf;F 
nghUSf;F guTk; 
d. ntg;gk;>Ntiy ,uz;Lk; xd;Nw  

 
71. Two students A and B appeared in the same examination. A secures 35% 

of a marks and fails by 15 marks. B secures 165 marks and fails by 25 
marks. Find the maximum marks. 
a. 600   b. 750   c. 500  d. 900 
xU Njh;it A kw;Wk; B vd;w ,uz;L khzth;fs; vOjpdh;. A khzth; 
35% kjpg;ngz; ngw;W 15 kjpg;ngz;zpy; Njh;r;rp ,oe;jhd;. B khzth; 
165 kjpg;ngz; ngw;W 25 kjpg;ngz;zpy; Njh;r;rp ,oe;jhd; vdpy; 
mj;Njh;tpd; mjpfg;gl;r kjpg;ngz; vt;tsT? 
a. 600    b. 750  c. 500  d. 900 

 
72. If Q1, Q2 and Q3 represent the first, second and third quartiles of a data, 

then co-efficient of quartile deviation is 

a. 3 1

2

Q Q
  b. 3 1 2

3 1

2Q Q Q

Q Q

 


  c. 3 1

3 1

Q Q

Q Q




  d. 3 1

2

Q Q
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Q1, Q2 kw;Wk; Q3 vd;git xU Gs;sptptuj;jpd; Kjy;> ,uz;lhk; kw;Wk; 
%d;whk; fhy;khdq;fs; vdpy;> fhy;tpyf;f FzfkhdJ. 

a. 3 1

2

Q Q
  b. 3 1 2

3 1

2Q Q Q

Q Q

 


  c. 3 1

3 1

Q Q

Q Q




  d. 3 1

2

Q Q
 

 
73. Raju purchased a Maruti Car 3 years ago for Es.2 lakh. Its value 

depreciated each year at the rate of 25% p.a. What is the present value of 
the car?   
a. Rs. 83,475 b. Rs. 2,83,475  c. Rs.84,375  d. Rs. 87,435 
uh[_> xU khUjp tz;bapid> 3 Mz;LfSf;F Kd;dhy; & 2 yl;rk; 
kjpg;gpw;F thq;fpdhh;. mjd; kjpg;G Mz;Lf;F 25% tPo;r;rpaile;jJ vdpy;> 
me;j khUjp tz;bapd; jw;Nghija kjpg;G vd;d? 
a. Rs. 83,475 b. Rs. 2,83,475  c. Rs.84,375  d. Rs. 87,435 

 
Directions (Q. 74): Study the following pie-chart carefully to answer these 
questions: 
fPNonfhLf;fg;gl;Ls;s tl;ltpsf;fg;glj;ij ghh;j;J tpilasp 
 
Total number of passengers in six different trains (A, B, C, D, E, F) = 4800 
MW ,uapy;fspy; gazk;nra;Ak; gazpfspd; vz;zpf;if (A, B, C, D, E, F) = 
4800 
Percentage-wise distribution of passengers 
gazk; nra;Ak; gazpfspd; vz;zpf;if rjtPjj;jpy; nfhLf;fg;gl;Ls;sJ 

 
 

74. What was the average number of passengers travelling in Train A, Train 
C and Train F together? 

 a.816 b.826 c.824   d. 812 
,uapy; A, C, F Mfpatw;wpy; gazk; nra;Ak; gazpfspd; vz;zpf;if 
ruhrhp fhz;f 

 a.816 b.826 c.824   d. 812 
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75. The monthly incomes of A and B are in the ratio 5 : 4 and their expenses 
are in the   ratio 3 : 4. If „A‟ saves Rs.2400 per month and „B‟ saves Rs.1600 
per month, what is the income of „B‟? 
a. 3000  b. 2400  c. 4000  d. 5000 
A kw;Wk; B apd; khjtUkhd tpfpjk; KiwNa 5 : 4 kw;Wk; nryT 
tpfpjk; KiwNa 3 : 4. A d; khj Nrkpg;G&.2400> B d; khj Nrkpg;G 
&.1600 vdpy; B d; khj tUkhdk; vt;tsT? 
a. 3000  b. 2400  c. 4000  d. 5000 

 

76. Image formed by plain mirror is 
a. Real, inverted, same size   b. virtual, erect, diminished 
c. real, erect, same size   d. virtual, erect, same size 
rkjs Mbapy; Njhd;Wk; gpk;gk;  
a. nka;gpk;gk;> jiyfPo;> rk msT   
b. khagpk;gk;>NeuhdJ> rpwpaJ. 
c. nka;gpk;gk;> Neuhd> rkmsT  
d. khagpk;gk;> NeuhdJ> rk msT 

 
77. Which one of the following is not a correct match? 

i. Bal Gangadhar Tilak: Bombay Association 
ii. Mary Carpenter : National Indian Association 

iii. Surendra Nath Bannerji : Indian National Conference 
iv. Anand Mohan Bose : Indian Society 
a. ii, iii, iv  b. ii, iii c. only i   d. only iii 
gpd;tUtdtw;Ws; jtwhd ,iziaf; fhz;f 
i. ghyfq;fhju jpyfh; : gk;gha; rq;fk; 
ii. Nkhp fhh;ngd;lh; : Njrpa ,e;jpaf; fofk; 
iii. RNue;jpuehj; ghdh;[p : ,e;jpa Njrpa $l;likg;G 
iv. Mde;j; Nkhfd; Ngh]; : ,e;jpa rq;fk; 
a. ii, iii, iv  b. ii, iii  c. i kl;Lk;  d. iii kl;Lk; 

 
78. Which of the following hormone is secreted by Neurohypophysis? 

a. Thyroxine  b. Androgen   c. Oxytocin   d. Prolactin  
gpd;tUtdtw;Ws; ve;j `hh;Nkhd; epA+Nuhi`Ngh/igrp]h]; 
Ruf;fg;gLfpwJ 
a. ijuhf;]pd;   b. Md;l;Nuh[d; 
c. Mf;]pNlh]pd;  d. GNuhyhf;bd;  
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79. For further development the test tube babies, the embryo is put inside 
the uterine endometrium at the  
a. 2 celled stage    b. 8 celled stage  
c. 4 celled stage    d. 32 celled stage 
Nrhjidf; Foha; Kiwf; fUj;jhpg;gpy; fUthdJ tsh;r;rpf;nfd 
ve;epiyapy; fUg;igapd; vd;Nlhnkl;hpaj;jpy; nghUj;jg;gLk;.  
a. 2 nry;fs; epiy   b. 8 nry;fs; epiy  
c. 4 nry;fs; epiy   d. 32 nry;fs; epiy  

 
80. Which one of the following was the host country for the World 

Environment Day (WED) 2015? 
a. Brazil  b. Italy  c. China  d. Australia 
gpd;tUtdtw;Ws; ve;j xd;W 2015k; Mz;bw;fhd cyf Rw;W#oy; 
jpdj;ij njhFj;J toq;Fk; ehL ? 
a. gpNurpy;  b. ,;j;jhyp  c. rPdh   d. M];jpNuypah  

 
81. The reversal magnetising field applied so as to reduce residual 

magnetism to zero is called  
a. Retentivity    b. Coercivity 
c. Residual magnetisation  d. Susceptibility 
kPe;j fhe;jjd;ikapid G+[;[paj;jpw;F khw;w jiyfPo; fhe;jkhf;Fk; Gyk; 
gad;gLj;JtJ vt;thW miof;fg;gLk; 
a. itj;jpUj;jy;    b. fhe;jkhf;Fjy;  
c. kPe;j fhe;jkhf;Fjy;   d. fhe;j Vw;Gj;jpwd;  

 
82. Semi-conductor materials suitable for making LED are 

a. Gallium Arsenide (GaAs) 
b. Gallium phosphide (GaP) 
c. Gallium – Arsenide phosphide (GaAsP) 
d. All the above 

LED apid cUthf;f gad;gLk; Fiwflj;jp 
a. fhypak; Mh;ridL    b. fhypak; gh];igL 
c. fhypak;-Mh;ridL gh];igL  d. Nkw;fz;l midj;Jk;  

 
83. Match the following 

A. Industrial development Bank of India (IDBI)  1. 1948 
B. Industrial Finance Corporation of India   2. 1971 
C. General Insurance Corporation of India   3. 1976 
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D. Tamilnadu Industrial Investment Corporation 4. 1949 
   A B C D 
a.  3 4 2 1 
b. 3 1 2 4 
c. 2 3 4 1 
d.  1 4 3 2 
nghUj;Jf 
A. ,e;jpa njhopy; Nkk;ghl;L tq;fp    1. 1948 
B. ,e;jpa njhopy; epjpf;fofk;    2. 1971 
C. ,e;jpa nghJ fhg;gPl;Lf;fofk;    3. 1976 
D. jkpof njhopy; KjyPl;Lf;fofk;   4. 1949 
    
   A B C D 
a.  3 4 2 1 
b. 3 1 2 4 
c. 2 3 4 1 
d.  1 4 3 2 

 
84. Which of the following states shares its border with maximum number 

of Indian states? 
a. Madhya Pradesh   b. Andhra Pradesh  
c. Chhattisgarh   d. Assam 
fPo;fz;l khepyq;fspy; vJ mjpf ,e;jpa khepyq;fis vy;iyahff; 
nfhz;Ls;sJ. 
a. kj;jpagpuNjrk;   b. Me;jpug; gpuNjrk;  
c. rl;b];fh;    d. m];]hk; 

 
85. The Author of the Biography of PM Shri Narendra Modi „Modi 

Incredible Emergence of a Star‟ is 
a. Rajiv Shrivastav  b. Rajat Sharma   
c. Rajdeep Sardesai  d. Tarun Vijay   
,e;jpa gpujkh; = eNue;jpu Nkhb mth;fspd; Rarhpij E}yhd Nkhb 
,d;fphplgps; vkh;n[d;]; M/g; ];lhh;”d; Mrphpah; ahh;?  
a. uh[Pt; =t];jht;  b. uh[j; rh;kh   
c. uh[;jPg; rh;Njrp  d. jUz; tp[a;    

 
86. Seven girls can do a piece of work in 13 days, six boys can do the same 

piece of work in 12 days, nine men can do the same piece of work in nine 
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days and six women can do the same piece of work in 14 days. Who are 
the most efficient? 
a. Girls  b. Boys  c. Men  d. Women 
7 rpWkpfs; xU Ntiyia 13 ehl;fspYk;> mNj Ntiyia 6 rpWth;fs; 
12 ehl;fspYk;> mNj Ntiyia 9 Mz;fs; 9 ehl;fspYk; kw;Wk; mNj 
Ntiyia 6 ngz;fs; 14 ehl;fspYk; Kbj;jhy; ,th;fspy; ahh; mjpf 
Ntiyj;jpwd; ngw;wth;fs;? 
a. rpWkpfs; b. rpWth;fs; c. Mz;fs;  d. ngz;fs; 

 
 
 
 

87. State the name of the following graph of a frequency distribution. 

     
 a. Histogram  b. Bar diagram   
 c. Pictogram  d. Frequency Polygon 
 fPo;f;fhZk; xU miyntz; guty; tiuglj;jpd; ngah; 

    
a. miyntz;zpd; nrt;tfk; b. gl;ilg;glk;  

 c. cUtfg;glk;    d. miyntz;zpd; gyNfhzk; 
 

88. What is the angle between the minute hand and hour when he time is 2 - 
15? 
a. 300   b. 22 ½ 0  c. 27 ½ 0  d. none of these  
kzp 2-15 ,Uf;Fk;NghJ epkpl Ks;Sf;Fk; kzp Ks;Sf;Fk; ,ilNa  
cs;s Nfhzk; vd;d? 
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a. 30°  b. 22½°  c. 27½°  d. ,it vJTkpy;iy 
 

89. Every web page has a unique address called _________. It locates the 
pages on the internet. 
a. HTML  b. FTP  c. URL  d. GUI 
xt;nthU tisj;jsj;jpw;Fk; xU jdp Kfthp cz;L. ,J __________ 
vd miof;fg;gLfpwJ. ,J ,d;nld;nel;by; cs;s gf;fj;ij 
fhz;gpf;fpd;wJ. 
a. HTML  b. FTP  c. URL  d. GUI 

 

90. ________ is a set of conventions used to pass packets from one host to 
another. 
a. HTTP  b. FTP  c. Internet protocol  d. TCP 
________ vd;gJ nghl;lyq;fs; vt;thW xU fzpg;nghwpapypUe;J 
,d;ndhU fzpg;nghwpf;F mDg;gg;gLfpwJ vd;gij jPh;khdpf;Fk; 
newpKiwfs; mlq;fpaJ. 
a. HTTP  b. FTP  c. Internet protocol  d. TCP 

 
91. Calculate oxidation state of Pb in Pb3O4 

a. – 2    b. 2.66  c. 3  d. 8 
Pb3O4y; Pb d; Mf;]p[Ndw;w epiyapid fzf;fpL. 
a. – 2   b. 2.66  c. 3  d. 8 

 
92. Process in which ore is melted with a flux and reducing agent is called 

a. Calcination    b. Smelting 
c. Zone refining    d. None of these 
jhJthdJ gpsf;];Rld; Nrh;j;J cUf;Fk; tpidapy; kl;Lg;gLj;Jk; 
nghUs; vJ?  
a. Rz;zkhf;Fk;    b. cUf;Fjy;  
c. N[hd; Rj;jpfhpg;G    d. vJTk; ,y;iy  

 
93. An embryo may sometimes develop from a cell of an embryosac other 

than the egg. This is called as  
a. Apospory     b. Parthenogenesis  
c. Parthenocarpy    d. Apogamy  
fUthdJ rpy rkaq;fspy; Kl;il nry;fspypUe;J tsuhky; 
fUg;igapypUe;j tsh;fpd;wJ ,jd; ngah;  
a. mNgh];Nghhp    b. ghh;jpNdhn[dprp]; 
c. ghh;jpNdhfhh;gp   d. mNghfkp  
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94. The absorption of the food material by the parasitic from the host cell is 
through 
a. Appressorium   b. Infection hypha  
c. Haustorium    d. Hyphal walls  
xk;Gaphpapd; nry;fspypUe;J czthdJ Neha;fpUkpfshy; vjd;%yk; 
vLf;fg;gLfpd;wJ?  
a. Mg;NuN]hhpak;   b. ,d;ngf;rd; i`gh 
c. `h];Nlhhpak;   d. i`gy; Rth;fs;  

 
 
 
 

95. Consider the following statements. 
I. Swaran Singh Committee was appointed in 1976. 
II. Verma Committee was appointed in 1999. 
a. I only is correct   b. II only is correct  
c. Both are correct   d. Both are wrong 
gpd;tUk; $w;WfisMuha;f;  
I. Rtud; rpq; FO 1976-,y; mikf;fg;gl;lJ 
II. nth;kh FO 1999-,y; mikf;fg;gl;lJ 
a. I kl;Lk; rhp    b. II kl;Lk; rhp 
c. ,uz;Lk; rhp    d. ,uz;Lk; jtW 

 
96. The first stem-cell bank of India has been opened in 

a. Kolkata  b. New Delhi c. Chennai  d. Hyderabad 
,e;jpahtpd; Kjy; %yr;nry; tq;fp jpwf;fg;gl;l ,lk;? 
a. nfhy;fj;jh  b. epA+nly;yp c. nrd;id  d. i`j;uhghj;  

 
97. The first Bengali political drama which presented the story of the 

brutality of English Indigo planters? 
a. Rast Goftar  b. Indian Social Reformer 
c. Neel Darpan  d. Shome Prakash 
,d;bNfh njhopyhsh;fs; kPjhd Mq;fpNyah;fspd; mlf;FKiwia 
glk;gpbj;J fhl;ba Kjy; tq;fhs ehlfk; ________ 
a. uh];l; fh/g;jh; b. ,e;jpa r%f rPh;j;jpUj;jthjp 
c. ePy; jh;g;gd;  d. N~hk; gpufh~; 

 
98. Article 75 of the Indian constitution does not provide 
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I. The total number of Ministers, including the Prime Minister, in the 
council of Ministers shall not exceed fifteen percent of the total 
number of member of the House of the people. 

II. the president may require the council of Ministers to reconsider 
such advice either generally or otherwise, and the president shall act 
in accordance with the advice tendered after such reconsideration. 

III. The question whether any, and if so what, advice was tendered by 
Ministers to the President  shall not be inquired into in any court. 

IV. The Prime Minister shall be appointed by the President  
V. The other Ministers shall be appointed by the president on the 

advice of the Prime Minister. 
VI. The Ministers shall hold office during the pleasure of the president. 

VII. The council of Ministers shall be collectively responsible to the 
House of the People. 

VIII. A minister who for any period of six consecutive months is not a 
member of either House of Parliament shall at the expiration of that 
period cease to be a Minister. 

a. II and III only  b. I,II,III,IVand VI  
c. I,II VII and VIII  d. IV,V,VI and VIII 
,e;jpa murpayikg;Gr; rl;lj;jpd; rl;lf; $W> 75 ,ijg; gw;wp 
Fwpg;gpltpy;iy. 
I. mikr;ruitapy; gpujk ke;jphp cs;spl;l mikr;rh;fspd; nkhj;j 

vz;zpf;if> kf;fsitapy; cs;s cWg;gpdh;fspd; vz;zpf;ifapy; 
gjpide;J tpOf;fhl;bw;Fk; mjpfkhf ,Uf;ff; $lhJ.   

II. mikr;ruit jd;dplk; mspj;j MNyhridia nghJthfNth 
my;yJ NtW tpjkhfNth kW ghprPyid nra;AkhW FbauRj; 
jiyth; mikr;ruitaplk; Nfl;fyhk;.  mj;jifa kWghprPyidf;Fg; 
gpwF toq;fg;gLk; MNyhridf;F Vw;g FbauRj; jiyth; nray;gl 
Ntz;Lk;. 

III. mikr;rh;fshy; FbauRj; jiytUf;F VNjDk; MNyhridfs; 
toq;fg;gl;ljh? mg;gb toq;fg;gl;bUg;gpd; vd;d MNyhridfs; 
toq;fg;gl;Ls;sd vd;w tptuj;ij ve;j xU ePjp kd;wKk; 
Nfl;fyhfhJ. 

IV. gpujk ke;jphp FbauRj; jiytuhy; epakpf;fg;gLfpwhh;. 
V. gpujk ke;jphpapd; MNyhridapd;Nghpy;> ,ju mikr;rh;fis FbauRj; 

jiyth; epakpf;fpwhh;. 
VI. FbauRj; jiyth; jpUg;jpailAk; tiu mikr;rh;fs; jq;fs; 

gjtpapNyNa ,Uf;f ,aYk;. 
VII. nkhj;j mikr;ruitANk> kf;fsitf;F xl;L nkhj;jkhf 

nghWg;ghFk;. 
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VIII. ve;j xU Fwpg;gpl;l fhyj;jpYk;> ghuhSkd;wj;jpy; ve;j xU 
mitapYk; njhlh;r;rpahf MW khjq;fshf cWg;gpduhf ,y;yhky; 
,Uf;Fk; xU mikr;rh;> me;j MwhtJ khj Kbtpy; mikr;rh; 
gjtpapy; ePbf;f jFjpia ,of;fpwhh;.  

gpd;tUk; FwpaPLfisg; gad;gLj;jp rhpahd tpiliaj; Njh;e;njLf;fTk;. 
a. II kw;Wk; III    b. I, II, III, IV kw;Wk; VI  
c. I, II, VII kw;Wk; VIII   d. IV, V, VI kw;Wk; VIII 

 
99. Auxology means 

a. The study of finger prints  
b. The study of adaptation of organisms  
c. The study of subsistence patterns  
d. The study of physical growth   
Mf;]hy[p vd;gJ? 
a. tpuy; Nuifia Ma;T nra;tijg; gw;wp gbg;gJ 
b. caphpdj;jOty; gw;wpa Ma;T  
c. gpiog;ghjhu Kiwg; gw;wp gbj;jy;  
d.kdpj cly; tsh;r;rp gw;wp gbj;jy;  

 
100. In Glycolysis select the correct one  

a. Glucose → Fructose → Fructose-6-phosphate  
b. Glucose → Glucose-6-phosphate → Fructose  
c. Glucose → Glucose-6-phosphate → Fructose 1.6-Biphosphate  
d. Glucose → Glucose-6-phosphate → Fructose-6-phosphate  
rhpahdij Njh;e;njL: 
fpisfhyprpy;  
a. FSf;Nfh]; → g;uf;Nlh]; →  g;uf;Nlh];-6-gh];Ngl;  
b. FSf;Nfh]; → FSf;Nfh];-6-gh];Ngl; → g;uf;Nlh];  
c. FSf;Nfh]; → FSf;Nfh];-6-gh];Ngl; → g;uf;Nlh];-1>6-iggh];Ngl; 
d. FSf;Nfh]; → FSf;Nfh];-6-gh];Ngl; → g;uf;Nlh];-6–gh];Ngl; 

 

101. Find the compound interest on ` 1000 at the rate of 10% per annum for 

18 months when interest is compounded half – yearly. 
a.  157.63   b. 167  c. 155  d. 150 
miu Mz;Lf;F xUKiw tl;b mrYld; Nrh;f;fg;gl;lhy; &.1000f;F 
Mz;L tl;btPjk; 10% tPjg;gb 18 khjq;fSf;Ff; $l;L tl;b fhzTk; 

 a.  157.63   b. 167  c. 155  d. 150 
 



 

29 | Page  PH: 24339436, 42867555, 9840226187 
 

102. A sum of Rs.2200 is lent into two parts so that the interest on first part 
for 7 years a 9% may be equal to the interest at the second part for 9 years 
at 15%. Work out the sum lent at 9%. 
a.   Rs.700            b.   Rs.800            c.Rs.1500           d.   Rs.1600 
&.2200 vd;w njhif ,uz;L gFjpfshf tl;bf;F tplg;gLfpwJ. Kjy; 
gFjpahdJ 7 Mz;LfSf;F 9 tpOf;fhL tl;b tPjj;jpy; toq;fg;gLfpwJ.  
,uz;lhtJ gFjpahdJ 9 Mz;LfSf;F 15 tpOf;fhL tl;b tPjj;jpy; 
toq;fg;gLfpwJ.  ,uz;L gFjpfs; thapyhfTk; fpilf;Fk; tl;b xNu 
msthdJ vdpy;> 9 tpOf;fhL tl;b tPjj;jpy; toq;fg;gl;l njhif 
vt;tsT?  
a.   Rs.700            b.   Rs.800            c.Rs.1500           d.   Rs.1600 

 
 

103. If the interest on money be 2 Paise per Rupee per month. What is the 
rate percent per annum? 
a.   12%                b.   24%                c.2%                   d.   6% 
xU Fwpg;gpl;l njhiff;F xU khjj;jpw;F xU &gha;f;F 2 igrh tl;b 
t#ypf;fg;gLfpwJ vdpy;> tl;b tPjk; Mz;Lf;F vt;tsT?  
a.   12%                b.   24%                c.2%                   d.   6% 

 

104. 
4 7 5 3 7

5 2 2 4 8
 

    
 

 is equal to 

a. 
6

1
20

  b. 
5

3
20

  c. 
11

2
20

  d.
1

5
20

 

4 7 5 3 7

5 2 2 4 8
 

    
 

d; kjpg;G fhz;f 

a. 
6

1
20

  b. 
5

3
20

  c. 
11

2
20

  d.
1

5
20

 

 
105. In a certain code FLOWER is coded as 36 and SUNFLOWER is coded as 

81 then how to code FOLLOWS? 
a. 42  b. 49  c. 64  d. 62 
FLOWER vd;w thu;j;ij 36 vd;Wk; “SUNFLOWER” vd;w thu;j;ij 81 
vd;Wk; Fwpf;fg;gl;lhy; FOLLOWS vd;w thh;j;ij ve;j vz;zhy; 
Fwpf;fg;gLk;? 
a. 42  b. 49  c. 64  d. 62 
 

106. The Government has constituted a committee to study the feasibility of 
adopting a new financial year. The Committee is headed by 
a. Ashok Lahiri   b. Rakesh Mohan   
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c. Shankar Acharya  d. Arvind VArmani   
,e;jpa murhq;fk; Gjpa epjp Mz;by; Vw;Wf; nfhs;sg;gl;l 
jpl;lq;fSf;fhd rhj;jpaf; $Wfis Muha xU fkpl;bia mikj;jJ. 
me;j fkpl;bapd; jiyth; 
a. mNrhf; y`php  b. uhNf~; Nkhfd;   
c. rq;fh; mr;rhh;ah  d. mutpe;j; tp mh;kzp   

 

107. Who is the current Leader of Opposition in the Rajya Sabha? 
a. Jaswanth Singh  b. Ghulam Nabi Azad 
c. Arun Jaitley   d. Manmohan Singh 
jw;Nghija khepyq;fsitapd; vjph;f;fl;rp jiyth; ahh;? 
a. [];te;j; rpq;   b. Fyhk; egp Mrhj;  
c. mUz; n[l;yp  d. kd;Nkhfd; rpq;  

108. Which of the following event a considered as a Machiavellian devise of 
the British in the administration? 
a. Charter Act of 1813  b. Queen‟s Proclamation 
c. Partition of Bengal  d. Rowlat Act 
gpd;tUk; epfo;Tfspy; vJ gphpl;b~; eph;thfj;jpy; khf;fpatpy;yp jpl;lk; 
vdf;fUjg;gLfpwJ?  
a. gl;lar;rl;lk; 1813  b. ,uhzpapd; mwpf;if 
c. tq;fg;gphptpid  d. nusyl; rl;lk;  

 

109. Consider the following statements : 
Assertion (A) : Laterite soil is well developed in Kerala. 
Reason (R): Kerala receives high rainfall during south west 
   monsoon. 
Now select your correct answer according to the coding scheme given 
below : 
a. Both (A)  and (R) are correct and (R) is the correct explanation of (A) 
b. Both (A)  and (R) are correct, but (R) is not the correct explanation of 

(A) 
c. (A) is correct but (R) is wrong  
d. (A) is wrong but (R) is correct. 
$w;W(A) : JUf;fy; kz; Nfushtpy; ed;F cUthfpwJ. 
 fhuzk; (R) : Nfush njd;Nkw;F gUtfhyj;jpy; mjpfkhd 
    kiog;nghoptpidg; ngWfpd;wd. 
 Nkw;$wpa ,uz;L $w;Wfspy; 
a. (A)  kw;Wk; (R) rhp NkYk; (R),(A)  f;F rhpahd tpsf;fk; 
b. (A)  kw;Wk; (R) rhp Mdhy; (R),(A)  f;F rhpahd tpsf;fk; my;y 
c. (A)  rhp Mdhy; (R) jtW 
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d. (A)  jtW Mdhy; (R) rhp 
 

110. Identify correct statement 
a. Diamond is highly reactive form of carbon  
b. In graphite, different layers are held be vanderwaal forces 
c. Graphite has 3 dimension structure 
d. Fullerene has 20 pentagons with 15 hexagons 

rhpahdtw;iw Njh;e;njL:  
a. fhh;gdpd; kpf cah;e;j tpidjpwd; mikg;G ituk;  
b. fpuhigl;bapy; mLf;FfSf;fpilNa thz;lh;thy;]; tpir cs;sJ 
c. fpuhigl; Kg;ghpkhz mikg;igf; nfhz;lJ 
d. Gy;yhPd; 20 Iq;Nfhzk;>15 mWNfhzq;fisf; nfhz;Ls;sJ 

111. The idea of motion of electron in elliptical orbits was introduced by 
a. J.J. Thomson Model (1897) b. Rutherford model (1911) 
c. Bohr model (1913)   d. Sommer field model (1951) 
ePs;tl;lg;ghijapy; vyf;l;uhd;fs; ,af;fk;” vd;w nfhs;if ahuhy; 
mwpKfg;gLj;jg;gl;lJ 
a. J.J. jhk;rd; khjphp (1897)  b.&jh;Nghh;L khjphp (1911) 
c. Nghh; khjphp (1913)   d. rhkh; gPy;L khjphp (1951)  

 
112. „India Bio Diversity Award 2016‟ has been given to  

a. Khanchenzhanga National Park, Sikkim 
b. Kaziranga National Park, Assam 
c. Pakke Tiger Reserve, Arunachal Pardesh 
d. Corbett National Park, Uttarakhand  
,e;jpa gy;Yaphpak; tpUJ 2016> ,jw;F toq;fg;gl;Ls;sJ  
a. fQ;rQ;rq;fh Njrpa G+q;fh> rpf;fpk;  
b. fhrpuq;fh Njrpa G+q;fh> m];]hk;  
c. gf;Nf Gypfs; fhg;gfk;> mUzhr;ry gpuNjrk;  
d. fhh;ngl; Njrpa G+q;fh> cj;jh;fhz;l;  
 

113. The National Handloom Day s celebrated on which day in India? 
a. August 24   b. September 7   
c. October 7   d. August 7    
Njrpa ifj;jwp ehs; ,e;jpahtpy; ve;j ehspy; nfhz;lhlg;gLfpwJ? 
a. Mf];l; 24   b. nrg;lk;gh; 7   
c. mf;Nlhgh; 7   d. Mf];l; 7    
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114. Which three High Courts were established in the year 2013 
a. Manipur, Meghalaya, Tripura   
b. Chhatishgarh, Jharkhand, Uttrakhand 
c. Arunachal Pradesh, Nagaland, Mizoram 
d. Manipur, Mizoram, Meghalaya 
2013Mk; Mz;by; Njhw;Wtpf;fg;gl;l %d;W cah; ePjpkd;wq;fs; vit? 
a. kzpg;g+h;> Nkfhyah> jphpGuh   
b. rj;jP~;fh;> [hh;f;fhz;l;> cj;juf;fhz;l; 
c. mUzhry;g gpuNjrk;> ehfhyhe;J> kpNrhuk;  
d. kzpg;g+h;> kpNrhuk;> Nkfhyah 

 
115. The biggest Indian merchant trader of South India during 17th Century 

A.D was 
a. Kasi Viranna     b. Ahmed Chellay 
c. Sunca Rama Chetty   d. Virja Vora 
fp.gp. 17Mk; Ehw;whz;bd; njd;dpe;jpahtpd; kpfg;nghpa ,e;jpa tzpfh; 
a. fhrp tPuz;zh    b. mfkJ nry;yhap 
c. Rq;fuhk nrl;b    d. tph;[p Nthuh 

 
116. The average age of 6 members of a family is 25 years. If a member. that 

family whose age is 45 years, expired, what is the average age of the 
remaining members of that family ? 
a. 20    b. 30  c. 21      d. 26  
xU FLk;gj;jpy; cs;s 6 cWg;gpdh;fspd; ruhrhp taJ 25 Mz;Lfs;.  
me;jf; FLk;gj;jpd; 45 taJila xU egh; fhykhfp tpLfpwhh;.  me;jf; 
FLk;gj;jpy; kPjKs;s egh;fspd; ruhrhp taJ vd;d? 
a. 20    b. 30  c. 21      d. 26  

 
117. The average monthly salary of 16 workers is Rs. 800. If the salary of the 

manager is also included then average monthly salary is increase by Rs. 
50. What is the monthly salary of the manager? 
a. Rs.2650      b. Rs. 1400    c. Rs. 2000    d. Rs. 1650  
16 njhopyhsh;fspd; ruhrhp khj Cjpak; &.800 MFk;. Nkyhshpd; 
CjpaKk; mjpy; Nrh;f;fg;gl;lhy;> mth;fspd; khj ruhrhp Cjpak; &.50 
mjpfhpf;fpwJ.  me;j Nkyhshpd; khj Cjpak; vd;d? 
a. Rs.2650      b. Rs. 1400    c. Rs. 2000    d. Rs. 1650  
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118. A tank is 25 m long and 16m wide. If water is poured into it upto the 
height of ½m from the bottom, what will be the volume of water in cube 
metre? 
a. 400   b. 100   c. 200   d. 220 
xU ePh;j;njhl;bapd; ePsk; mfyk; KiwNa 25 kP> 16 kP. ,j;njhl;bapy; 
fPopypUe;J ½ kP cauj;jpw;F ePh; epug;gg;gl;Ls;sJ vdpy; mj;njhl;bapy; 
cs;s ePhpd; nfhs;ssT fhz;f (fd kPl;lhpy;) 
a. 400   b. 100   c. 200   d. 220 

 
119. The diameter of a sphere is 6cm.  It is melted and drawn into a wire of 

diameter 2mm.  The length of the wire is  
A. 12m   B. 18m  C. 36m   D. 66m 
xU Nfhsj;jpd; tpl;lk; 6nr.kP mjid cUf;fp> 2kp.kP tpl;lk; nfhz;l 
fk;gpahf khw;wpdhy;> me;jf; fk;gpapd; ePsk; ahJ? 
A. 12m   B. 18m  C. 36m   D. 66m 

 

120. Number of bit used by the IPv6 address 
a. 32 bit  b. 64 bit  c. 128 bit  d. 256 bit 
IPv6 address-,y; cs;s gpl;Lfspd; vz;zpf;if ahJ? 
a. 32 bit  b. 64 bit  c. 128 bit  d. 256 bit 

 
121. What is the potential of a half – cell consisting of zinc electrode in 0.01 M 

ZnSO4 solution at 25°C. E°=+0.763V. 
a. 1.08V  b. 0.822V  c. 1.54V  d. 1.01 V 
25°C ntg;gepiyapy; [pq;f; vyf;l;Nuhl;bid 0.01M ZnSO4 fyitapy; 
nfhz;Ls;s miukpd;fyj;jpd; jpwd; Mw;wy;> vt;tsT? E°=+0.763V. 
a. 1.08V  b. 0.822V  c. 1.54V  d. 1.01 V 

 

122. Match List I & II select correct answer: 
  List – I     List – II 

A. Etching on glass   1. Zinc carbonate 
B. Calico printing   2. Bordeaux mixture 
C. Skin ointment   3. Hydrofluoric acid 
D. Fungicide    4. Potassium dichromate 
   A B C D 
a. 3 4 1 2  
b. 1 3 4 2  
c. 2 1 3 4  
d. 4 2 1 3  
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gl;bay; I I gl;bay; II cld; nghUj;jp rhpahd tpilia Njh;e;njL: 
 gl;bay; I    gl;bay; II 
A. fz;zhb mhpj;jy;   1. [pq;f; fhh;gNdl; 
B. fhypNfh mr;rpLjy;   2. Nghh;lhf;]; fyit 
C. Njhy; fspk;G    3. i`l;Nuh g;Shpf; mkpyk;  
D. fhshd; nfhy;yp   4. nghl;lhrpak; ilFNuhNkl; 
   A B C D 
a. 3 4 1 2  
b. 1 3 4 2  
c. 2 1 3 4  
d. 4 2 1 3 

123. Where did Prime Minister Narendra Modi launch the guidelines for 
Operationalization of the Pradhan Mantri Fasal Bima Yojana in February 
2016? 
a. Sherpur  b. Guwahati c. Kolkata  d. Jaipur  
gpg;uthp 2016y; gpujk ke;jphp gry; gPkh Nah[dh nray;ghLfSfhd 
topfhl;bapid gpujkh; eNue;jpu Nkhb mth;fshy; njhlq;fg;gl;l ,lk; 
vJ? 
a. n~h;G+h;  b. fTfhj;jp c. nfhy;fj;jh d. n[a;g;G+h;  

 
124. The official language commission, Article 344(1) of the constitution was 

duly appointed on: 
a. July 7, 1954   b. July 7, 1955  
c. July 7, 1964   d. July 7, 1965 
murpayikg;Gr; rl;lj;jpd; mYty; nkhop Mizak;> rl;lg;gphpT 344(1)> 
Kiwahf vg;NghJ mikf;fg;gl;lJ: 
a.[_iy 7, 1954   b. [_iy 7, 1955   
c. [_iy 7, 1964   d. [_iy 7, 1965 

 
125. Identify incorrect pair 

a. First finance commission   - 1952-57 
b. Fourth finance commission  - 1966-69 
c. Tenth finance commission  - 1994-1999 
d. Fourteenth finance commission - 2015-2020 
jtwhd ,iziaf; fhz;f 
a. Kjy; epjp Mizak;   - 1953-57 
b. ehd;fhk; epjp Mizak;   - 1966-69 
c. gj;jhtJ epjp Mizak;   - 1994-1999 
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d. 14tJ epjp Mizak;   - 2015-2020 
 

126. In which one of the following countries the 16th World Sanskrit 
Conference was held? 
a. Nepal  b. Thailand  c. Bhutan  d. Bahrain 
gpd;tUk; ve;j ehLfspy; xd;wpy; 16tJ cyf rk];fpUj khehL 
eilngw;wJ? 
a. Neghsk;  b. jha;yhe;J  c. G+lhd;  d. g`;iud;  

 
127. Acceleration due to gravity (g) ________ with height, ______ with depth 

a. increase, decreases   b. decreases, increases 
c. increases, increases   d. decreases, decreases 
GtpaPh;g;G KLf;fk; cauj;ij nghWj;J ______ Moj;ij nghWj;J 
______. 
a. mjpfhpf;Fk;> FiwAk;  b. FiwAk;> mjpfhpf;Fk;   
c. mjpfhpf;Fk;> mjpfhpf;Fk;  d. FiwAk;> FiwAk;  

 
128. As part of National Climate Change Policy, Indian government is 

planning to raise to installed capacity of renewable energy by the year 
2030 to 
a. 350 GW  b. 175 GW  c. 200 GW  d. 250 GW 
Njrpa gUtepiy khw;w nfhs;ifapy; xU gFjpapd; gb> ,e;jpa 
murhq;fk; vt;tsT GJg;gpf;fj;jf;f Mw;wy; cw;gj;jpia 2030k; 
Mz;bw;Fs; ngUf;f jpl;lkpl;Ls;sJ. 
a. 350 GW  b. 175 GW  c. 200 GW  d. 250 GW 

 
129. Which one of the following nations adopted its first democratic 

Constitution in September 2015? 
a. Bhutan  b. Myanmar  c. Nepal  d. Singapore 
gpd;tUk; ehLfspy; ve;j xd;W mjd; Kjy; [dehaf murpayikg;ig 
nrg;lk;gh; 2015y; Vw;Wf; nfhz;lJ 
a. G+l;lhd;  b. kpahd;kh;  c. Neghsk;  d. rpq;fg;G+h;  

 
130. The antibody mediated immunity is directed by the  

a. T-cells    b. B – cells    
c. Monocytes   d. Phagocytes  
Md;bghb top Neha;j;jilfhg;gpw;F toptFf;Fk; nry;fs;  
a. T – nry;fs;   b. B – nry;fs;  
c. NkhNdhirl;Lfs;   d. NgNfhirl;Lfs;  
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131. Which one is the first search engine in internet 

a. Google  b. Archie  c. Altavista  d. WAIS 
,iza cyfj;jpy; Kjy; NjLnghwp ,ae;jpukhf fUjg;gLtJ? 
a. Google  b. Archie  c. Altavista  d. WAIS 
 

132. Which one programming language is exclusively used for artificial 
intelligence 
a. C   b. Java  c. J2EE  d. Prolog 
nraw;if Ez;zwptpw;fhd gpuj;Naf epuyhf;f nkhop vJ? 
a. C   b. Java  c. J2EE  d. Prolog 

 
133. The arithmetic mean of a group of 20 observations was calculated as 

12.5. It was later found that one observation was wrongly read as -15 
instead of 15. Then the correct mean is 
a. 13   b. 14  c. 12  d. 14.5 
20 vz;fspd; $l;Lr;ruhrhp 12.15 vd fzf;fplg;gl;lJ. gpd;dh; me;j 
vz;fspy; xd;W 15 vd;gjw;Fg; gjpyhf -15 vd jtWjyhf vLj;Jf; 
nfhs;sg;gl;Ls;sJ fz;lwpag;gl;Ls;sJ vdpy;> rhpahd ruhrhp 
a. 13   b. 14  c. 12  d. 14.5 

 
134. AEFJ : KOPT :: ? : QUVZ 

a. GKLP  b. GLKP  c. HKLP  d.HKQL 
 

135. What is the next figure in the figure series? 
nfhLf;fg;gl;Ls;s glj;njhlhpy; mLj;JtUk; glk; ahJ? 
Problem Figures 

 
Answer Figures 

 
       1        2         3        4        5 

  a. 1  b. 2  c. 3  d. 5 
 

136. The gas that traps 300 time more heat than Co2 is  
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a. CFC  b. Methane  c. NH3 d. Nitrous Oxide  
CO2 ia tpl 300 klq;Ffs; mjpf mstpy; ntg;gj;ijg; ghJfhf;Fk; 
thA vJ?  
a. CFC   b. kPj;Njd;  c. NH3 d. iel;bu]; Mf;i]L 

 
137. A Variety of toxic compounds and oil are degraded by  

a. Pseudomonas  b. Gibberella  c. Fungi   d. Rhizobium  
gytif er;Rg; nghUl;fs;> vz;nza; Mfpatw;iw mopf;f cjTfpwJ.  
a. #NlhNkhdh];    b. fpg;gnuy;yh  
c. G+Q;irfs;     d. iuNrhkpak;  

 
 

138. What is a normal platelet counts?  
a. 1 million per cubic cc  b. 1 million per cubic mm   
c. 2,50,000 per cubic mm  d. 10,000 per cubic mm  
,uj;j gpNsl;yl;Lfspd; vz;zpf;if?  
a. 1 kpy;ypad; / fd cc  b. 1 kpyypad; / fd kp.kP 
c. 2>50>000 /fd kp.kP   d. 10>000 / fd kp.kP  

 

139. Which one contain dihydrouracil loop? 
a. mRNA  b. rRNA  c. tRNA  d. hnRNA  
gpd;tUtdtw;Ws; vJ ili`NuhAuhrpy; Y}g;gpidf; nfhz;Ls;sJ. 
a. mRNA   b. rRNA   c. tRNA  d. hnRNA 

 

140. Match the following 
A. Raman effect   1. Magnetic field 
B. Zeeman effect  2. Scattering 
C. Stark effect   3. Relative velocity 
D. Doppler effect  4. Electric field 
   A B C D 
a. 3 1 2 4 
b. 4 3 2 1 
c. 2 4 3 1 
d. 2 1 4 3 
thpirI cld; thpir II– idg;nghUj;jp rhpahd tpiliaf; fhz;f 
thpirI    thpir II 
A. uhkd; tpisT  1.fhe;jg;Gyk; 
B. rPkd; tpisT  2.rpjwy; 
C. ];lhh;f; tpisT  3. rhh;G jpirNtfk; 
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D. lhg;sh; tpisT  4. kpd;Gyk; 
   A B C D 
a. 3 1 2 4 
b. 4 3 2 1 
c. 2 4 3 1 
d. 2 1 4 3 
 
 
 
 
 

141. Consider the following 
Assertion (A): On rainy day small oil film on water show brilliant colours 
Reason (R): Such brilliant colours are always due to polarization of light 

a. Both A and R are individually true and R is the correct explanation 
of A 

b. Both A and R are individually true and R is not correct explanation 
of A 

c. A is true and R is false 
d. A is false but R is true 

$w;W (A) : kio ehspy; jz;zPh; kPJ cs;s nky;ypa vz;nza; glyk; 
xsph;fpd;w tz;zq;fis fhl;LfpwJ 
fhuzk; (R): xspapd; jstpisNt xsph;fpd;w tz;zq;fSf;Ff; 
fhuzkhFk; 

a. A kw;Wk; R ,uz;LNk rhp NkYk; R vd;gJ A tpw;F rhpahd 
tpsf;fkhFk; 

b. A kw;Wk; R ,uz;LNk rhp Mdhy; R vd;gJ A tpw;F rhpahd 
tpsf;fky;y 

c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 

 
142. The temperature in Celsius scale at which the temperature in Fahrenheit 

equals 11

5

th

 its value (in Celsius scale) is 

a. 0˚C   b. 40˚C   c. 80˚C  d. -40˚C 
nry;rpa]; ntg;gepiy msTNfhspy; mikag;ngWk; ntg;g epiyapd; apd; 
ngUf;F kjpg;gpw;Fr; rkkhd /ghud;`Pl; ntg;gepiy kjpg;igj; jUk;> 
ntg;gepiy (nry;rpa]py;) 
a. 0˚C   b. 40˚C   c. 80˚C   d. -40˚C 
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143. Who is called as father of microbiology? 

a. Robert Koch    b. Antony Van Leewenhock  
c. Edward Jenner   d. Louis Pasteur  
Ez;zpaphpaypd; je;ij ahh;?  
a. uhgh;l; Nfhr;    b. Md;ld; thd; y;td;`hf; 
c. vl;th;L n[d;dh;  d. Y}ap]; gh];lh;  

 
 
 
 
 

144. Genetic disease Albinism in human is an 
a. Allosomal dominant trait 
b. Autosomal recessive trait 
c. Sexually transmitted disease  
d. Allosomal recessive trait 
kdpjdpy; kugpay; Nehahd my;gpdprk; vd;gJ  
a. my;NyhNrhky; Nkyhjpf;f gz;G  
b. Ml;NlhNrhky; xLq;fpa gz;G  
c. ghy;top guTk; Neha;  
d. my;NyhNrhk; xLq;fpa gz;G  

 
145. Which of the following pairs is/are incorrectly matched? 

Fold Dance States 
1. Hikat  : Himachal Pradesh 
2. Hurka Baul : Uttranchal 
3. Lava Dance : Lakshadweep 
4. Perini  : Kerala 
a. 1, 2  b. 2, 4  c. 1, 4  d. 4 only 
gpd;tUtdtw;Ws; jtwhd ,iziaf; fhz;f 
eld tif  khepyq;fs; 
1. `pf;fl;  : ,khr;ryg;gpuNjrk; 
2. `h;fh ghy; : cj;juhQ;ry; 
3. yhth eldk; : yl;rj;jPT 
4. nghpdp  : Nfusk; 
a. 1, 2  b. 2, 4  c. 1, 4  d. 4 kl;Lk; 
 

Directions (Q. 146): Answer the following questions from the line graph 
given below. The graph shows the runs scored by a batsman in five matches. 
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fPNo nfhLf;fg;gl;Ls;s Nfhl;Ltpsf;fg; glj;jpid gad;gLj;jp gjpysp. 
,g;glj;jpy; xU kl;ilg;ge;J tPuh; Ie;J Ml;lq;fspy; vLj;j Xl;lq;fs; 
nfhLf;fg;gl;Ls;sd. 
 

 
146. Percentage decrease in runs from 4th to 5th match was  

a. 15%  b. 12%  c. 14%  d. 25% 
kl;ilg;ge;J tPuh; 4tJ Ml;lj;jpypUe;J 5tJ Ml;lj;jpy; vLj;j ud;fspd; 
rjtPj cah;T vt;tsT? 
a. 15%  b. 12%  c. 14%  d. 25% 

 
147. Which of the following is not a classification? 

a. Chronological  b. Geographical 
c. Qualitative   d. Questionnaire 
fPo;f;fz;ltw;wpy; vJ tifg;gLj;Jjy; fpilahJ? 
a. fhyk;rhh; b. ,lk;rhh;   c. gz;G  d. tpdhg;gl;bay; 

 
148. If same patterns of operations are followed in all the three diagrams 

given below the missing number is 
xNu khjphpahd nray;ghLfisf; ifahz;L fPNo jug;gl;Ls;s 
glq;fspYs;s vz;fs; Fwpf;fg;gl;lhy; tpLgl;l vz; ahJ? 

 
     

a. 29   b. 31   c. 30   d. 35  
 

149. If clock is called television, television is called radio, radio is called oven, 
oven is called grinder and grinder is called iron, in what will a lady bake? 
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a. radio   b. oven  c. grinder   d. iron  
fbfhuj;ijj; njhiyf;fhl;rp vd;Wk;> njhiyf;fhl;rpia thndhyp vd;Wk;> 
thndhypia Xtd; vd;Wk;> Xtid fpiuz;lh; vd;Wk;> fpiuz;liu mad; 
vd;Wk; mioj;jhy;> xU ngz; vijf; nfhz;L czTg; nghUl;fis Ntf 
itg;ghs;? 
a. thndhyp  b. Xtd;  c. fpiuz;lh;;  d. mad;; 

 

150. 
0.05 0.05 0.05 0.04 0.04 0.04

?
0.05 0.05 0.0002 0.04 0.04

    


   
 

a. 1  b. 0.1  c. 0.01  d. 0.0001 
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GROUP I - PRELIM 2016-17 

PRE-MODEL EXAM – II-ANSWER KEY 
 
1 2 3 4 5 6 7 8 9 10 
B A B D A B A B C A 

11 12 13 14 15 16 17 18 19 20 
A B C B D B D B C B 

21 22 23 24 25 26 27 28 29 30 
C D C B B A B B A B 

31 32 33 34 35 36 37 38 39 40 
C B C B C A B B C A 

41 42 43 44 45 46 47 48 49 50 
B A A B D B A C B B 

51 52 53 54 55 56 57 58 59 60 
D D C D A B A C A B 

61 62 63 64 65 66 67 68 69 70 
C A C B C D A C D C 

71 72 73 74 75 76 77 78 79 80 
C C C A B D C C B B 

81 82 83 84 85 86 87 88 89 90 
B D B D D B A B C C 

91 92 93 94 95 96 97 98 99 100 
B B D C C C C A D D 

101 102 103 104 105 106 107 108 109 110 
A C B C B C B C B B 

111 112 113 114 115 116 117 118 119 120 
D C D A A C D C C C 

121 122 123 124 125 126 127 128 129 130 
B A A B C B D A C B 

131 132 133 134 135 136 137 138 139 140 
B D B A D D A C C D 

141 142 143 144 145 146 147 148 149 150 
C C B B D B D A C C 

 
  


